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Congruent Triangles: HW

1) Identify the congruent triangles in the given figure
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2) Verify that the following transformation preserves congruence
a. 2 - z z
apsT= aps OV = 1742
y ST \+4

T sT=45 sP =113 eT
NI S T! = (2422 3

o
)

SSS

Determine whether AEFG 2 AMNP given the
coordinates of the vertices, Exphm

b p—4, =3), P2, 1), G(=2, —=3), M{4, =3), N(2, 1),
‘r;f'ﬁ ‘;s

FE‘.quz‘* Ny

& B 1, Fi-

2‘2*32 ?‘T\
1P S\T\glrs' S {3 PT= 4o

l {.’\3 (.‘i S 1?1 ‘!I s

F s
\ S ‘ :

P2 22432 PTE |1*+32
t.4+¢9 PT2=1%9
= {10

3 NEL 6, PR DY

S

S FG = e

& a 6= P ND‘.
ST FE = NM S FG <= PN



Use the given information to identify the congruent triangles. Describe what congruence shortcut you used and
what angles or sides you know are congruent.

a. Short cut congruence used ;;& S

— b. Name the 3 congruent corresponding parts:
ASRY = NQR% S: PQ SR q wen
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a. Short cut congruence used _B_H_S_

b. Name the 3 congruent corresponding parts:
A S=dU given
A: LUTR 2 eSTR gwen

ASTR = AUTR

a. Short cut congruence used

b. Name the 3 congruent corresponding parts:

NoT &

a. Short cut congruence used

b. Name the 3 congruent corresponding parts:
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a. Short cut congruence used

b. Name the 3 congruent corresponding parts:
A:<ARN = 2 ACN  quen
A: 4CAN = cRNR  qwe
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